
Page 6-8 2006 XRT 1500/Carryall 294 Gasoline and Diesel Vehicle Illustrated Parts List

G

E

6

D

000072-001

5

2

4

3

1



E

G

6

2006 XRT 1500/Carryall 294 Gasoline and Diesel Vehicle Illustrated Parts List Page 6-9

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

D

FRONT SUSPENSION (STANDARD)

1 102298240 Bolt, Flange Head, M8-1.25 X 40 ........................................................................................................... 4
2 102394002 Shock, Coil Over, Front Hd ...................................................................................................................... 2
3 102616301 Bolt, Flange Head, M12 X 1.75 X 70 ..................................................................................................... 2
4 102618601 Lock Nut, Flg M8 X 1.25 Nylon .............................................................................................................. 4
5 102620501 Nut Flg, M12x1.75, Nylon Gr 10 ............................................................................................................ 2


